TR304FE ATA RANKING (AERTHM)

[ BFHTILR | 2018411 A22B B
Bk K 557 ast BEF P Ov)| mRE | BE mE Ry | m&EZE | 2018% | REZ HoOv]| mRE | BUS mE Rk | mEE | 20174
point | 18.04 | 18.07 | 18.09 | 18.10 | 18.11 | 19.02 | 19.02 | Point | 17.04 | 17.07 | 17.09 | 17.10 | 17.11 | 18.02 | 18.02 | Point
SR EAO— > 290 35 45 40 45 20 185 4 30 5| 8 70 35 152
2 ARE HEW  |eAO-—> 248 35 30 40 45 8 158 4 30 5 3 12 70 20 144
3|mE B S0 AL 215 60 30 5 15 110 35 30 40 0 12 70 35 222
aan BE River 150 80 80 100 70 170
5|=@ 15 SO AL 148 60 30 15 8 113 35 30 1 3 12 15 20 116
6|=% RS EAO—> 141 4 5 17 30| 20| 76, 20 5| 1 15 20 30 35] 126
7| ez F—LURT 138 70 30, 8 108 70 30, 30 I 130
BEEREES F—LUT 135 70 5 30 105 30 30 60
olan # EAO—> 130 95 0 95 20 45 40 15 80) 35 235
[ GRS River 115 80) 80) 19 0 35 54
11[AR BX =AO—> 108 20 30, 25, 3 78 20 5| 25 15 30| 30 125
2N &l EAO—> 106 4 5 17 30, 20| 76 20 5 1 10 20) 30 86
13|FE E3h FFLR 93 12 15 3 12 42 12 15 3 30 21] 81
14[RE B =AO—> 85, 0 45 1 15 8 69) 35 5 5 15 20 5 11 96
[ ETEES =AO—> 80) 20 30, 50 20 5 25 15 30 30 125
16[HaIE 3588 River 70 0 70 70
eSS ERIO—> 65 16 5 5 15 2 43 4 5 1 3 5 5 17 40
18|5R E— ERIO—> 53 12 12 12 15 5 3 20 30 11 96
9[&F E= ERIO—> 52 4 5 1 12 22 4 5 1 15 5 5 25 60
200E %8 ERIO—> 51 16 5 25 3 2 51 0
21|EH & ERIO—> 50 0 5 15 8 28 12 5 5 15 12 5 17 71
22|iEE BT 59" A= 45 0 30 15 45 12 12
23|/ ERIO—> 43 4 5 1 3 8 21 12 5 5 10 12 5 17 66
24|mE HE FFLR 42 4 1 7 8 20 4 5 10 3 8 5 17 52
25|V & S59° A= 35 5 5 30 17 30 50 30 157
25|iEFH #H River 35 0 19 0 35 54
27|80 & =AO—> 33 0 3 5 8 2 25 27,
28|fzk &M |SHUVTC 32 4 1 2 7 25 25
29|EE RE FFLR 26 5 5 21 21
30|mEFF R |RAIO—> 25 1 7 8 4 5 8 17 34
30|k A i 25 0 8 25| 33
32|WE B SO A-IL 24 4 5 9 4 5 8 15 32
32|&F A 55— 24 6 8 14 10 10
R2Ne T= EHO-—> 24 6 8| 14 10 10
35|09k ARy |SOUVTC 22, 5 5 2] 2) 17 21
35[fER ®i1  |=UUVTC 22, 5 5 2 2 17 21
35|@M R— EAO—> 22, 5 5 17 17
358 w2 =AO—> 22 5 5 17 17
39[RE F =AO—> 19 4 4 4 8 15 27
39|pl f— River 19 2 2 17 17
41|/ F8 F—LUET 17 0 8 17 25
alpE | =5UVTC 17 0 8 17 25
a1)EE Bt F—LUET 17 0 17 17
ALIVAR EiIRR |HT— 17 0 17| 17,
[ 59" A= 17 0 17 17
187 River 17| 0 17 17|
EC ERIO—> 17 8 7 2 17 6 2 8
T ERIO—> 17 8 7 2 17 2 2
BhE Sy 15 5 4 10 14]
[ Sy 13 3 3 10 10
X =OUVTC 12 2 2 2 10 12
= SvLF> 12 2 2 2 10 12
[ SvLF> 12 2 2 2 10 12
=iy =HUVTC 12 2 2 2 10 12
Eth =oUvTC 12 2 2 2 10 12
FE SvILF> 10 0 4 10 14
BA ERIFH2 10 0 10 10
[EG E 10 0 10 10
Bz =OUvTC 10 0 10 10
56|ATT 18X SvLF> 10 0 10 10
R EEEE River 10 0 10 10
56[mA River 10 0 10 10
56| Eth ERH12r 10 0 10 10
56|EN_BF i 10 0 10 10
56|Eal RE River 10 0 10 10
56|®mMA EA River 10| 0 10| 10|
67|8A M 59" A-L 8 8 8 12 12
68|ARE x— |RAO—> 7 0 0 2 2 2 2 5 9
68[AF faA =AO—> 7 2 2 2 5 7
685 BB =AIO—> 7 0 0 2 2 2 6 2 1 3
G EEREER Sy 7 2 5 7 0
72|ER Em River 5 0 4 5 10 10 2 5 36
72|6K B ERIO—> 5 3 2 5 17 17
T2{RAR EE ZHO-—> 5| 0 0 8 5 13|
72[iTA H— EROU—> 5 0 8 5 13
72|B|H Feth EROU—> 5| 0 8 5 13|
72[#L A 50 A=) 5| 0 2| 5 7|
72| EX =OUvTC 5 0 2 5 7
72|58 S 2+A—~E— 5 0 2 5 7




72| FRA f2— =OUVTC 5 0 2| 5| 7
72[E0 FE EFO0-—> 5 0 2| 5| 7
72| 3h 21— h~E— 5 0 5| 5
72|EME EA 21— hE— 5 0 5 5
72{ AR R EROU—> 5 0 5| 5
T2|/NEHR B2 EROU—> 5 0 5| 5
72[fEH @& River 5 0 5 5
72| A4S fiERE 5 — 5 0 5| 5
72|iEE B 5 — 5 0 5| 5
72=E K47 =UUVTC 5 0 5| 5
72(n0EE @t ERO—> 5 0 5| 5|
72|kM B BRI -2 5 0 5| 5|
72|SH FiE River 5 0 5| 5|
72|{EAR it River 5] 0 5 5
7288 #/Z ZHO—> 5 0 5| 5
72[l fin River 5 0 5| 5
72[BRA  TE River 5 0 5| 5
PEEE S =AO—> 5 2 4 2 1 3
HE EBHIEAY 5 4 4 1] 1

L SUA-IL 5 5 5 0
F— LURT 5| 5| 5| 0

2HO—> 5 5| 0

BRTEAY 4 4 4 0 0

3 2 2| 1] 3

3 2 2| 1] 3

3 3 3 2

103|#al River 3 2 1 1
103287 #hath Syl 3 3 3 0
103[thEH  HiLap SvLP> 3 3 3 0
109|5HE A% Sz AN 2 2 3] 5
109|%ith @t Sz AN 2 2 5 5
109(X)II - #03F Sz AN 2 2 0
109(#hi it F—LURT 2 2 2 0
109\ EES SvILI> 2 2 2 0
109|fRE F SvILI> 2 2 2 0
1098k Ml River 2| 2| 0
1091 &HEZ S ANT 2 2 0
117 (@B #— =UUVTC 1 0 2| 1 3
117(aH En BRI TERT 1 0| 1] 1
117|#@%k & SEFIF12Fr 1 0 1] 1
17|28 =& BRI 12Fr 1 0 1] 1
117|820 8A =OUvTC 1 0 1 1
117|F= this River 1 0 1| 1
117)RE 184 River 1 0 1| 1
Y ERE=S River 1 0 1| 1
117|488 =N River 1 0 1] 1
117|8K BA River 1 0 1] 1
117|MHEE BX River 1 0 1] 1
117|®E 455 BHIEAY 1 0 1] 1
117|@% 1E BHIEAY 1 0 1] 1
117|MHEE AKX River 1 0 1] 1
11780 ]’ River 1 0 1] 1
12|78 wE 2FIO—> 0 0 8 8
132[iEAR  Ah o7 — 0 0 6
132|5K HE Sxsng 0 0 2
132/ E@th BRO—> 0 0 2| 2
132|iEd & SOUVTC 0 0 2) 2
132(= 5 — 0 0 2
1320 %5 2A—~E— 0 0 2
132|&FL K& River 0 0 2| 2
132|ARE k& River 0 0 2| 2




